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I ymwn: Halakhic status of girls in 12" year and boys in 13% year vis-a-vis nk>an
a  During that year: we check to see if s/he understands to Whom they were 7m; if they do - valid; if not — invalid
i Before this time: regardless of what they state, , 773 and w1pn are invalid
ii  After this time: regardless of their ignorancfe, 911 and wTpn are valid
I Analysis of rhetoric of mwn
a  Questionl: once we were taught that her n»11 are checked at 11, why mention that at 12 her o7 are valid?
i Answer: we may have thought that we continue checking forever
b Question2: once taught that her n»111 are valid at 12, why mention that we continue to check through 12t year?
i Answer: since 30 days ina year is considered the year; if we checked her at 11+30 and she “failed”, perhaps no need to
check further — therefore it teaches that we continue checking through the year
¢ Question3: could have just stated — “at 12, her n»111 are valid and we check throughout 12% year” — no need for mw »> na...
i Answer: R"10 that the default is at 12 and only a very sharp girl is checked at 11 - teaches that all girls are checked at 11
d  Question4: why the need for the clauses about “before this time” and “after this time?
i Answer: R"10 only applies if they don’t volunteer information; but if they speak up, rely on them (even before 11) — 5"np
II  Attribution: our mwn follows »17; X"aw1 has opposite approach (girls mature later — only at 13; boys at 12)
a 37 based on v. 1-12n alludes to greater “understanding” given to women
i N7aw7v. 1 teaches that 'n braided mn’s hair and escorted her to o®
b X7w7T since little boys are in 270 3, they pick up cleverness earlier
IV Discussion: what is the child’s status during the jn1 (during 12t year for girls, 13t year for boys)?
a  Clarification: not asked about 0171); is it neither; asked about mwny
i a1 37(in 523): like beforehand (i.e. no pwny until full 12/13 reached)
it~ 571 77 like afterwards — mnemonic is v. 2 (02199 — earlier maturity — Y8791 — these were »”X 'nan)
1 Challenge (295 8212077 7): from our mwn — afterwards, even if they claim they didn’t know — 911 valid
(a) Implication: during the year, considered as if before the time
(b) Counter (x27): infer the opposite from last clause
(c) a7 erred; thought that X1nn "1 was reading ®w» carefully
(i) a2pi 71 was reading it from the mwn itself — what is yr anRY?
1. If: the child doesn’t yet have myw nv, s/he is a jop
2. Rather: must have m yw mv
a.  Nonetheless: must be overage=»during the year, considered like beforehand
2 Challenge (871 ”): from v. 3; WX expands to include boy at 13 — even if he doesn’t understand, his 77 is valid
(a) However: he must already have n»w v, else he is a jop; yet if he is below 13, considered jnt 722993 — 277 Xnavn
3 Defense (279): it is a RN 'np, in re: NYw found on boy from 9-12
(a) If: found at 9 (or before) — considered kmw (disregarded)
(b) From 9-12: oy rule it to be XMW; TN’ 72 Y0V "1 — N0
(i) Note: he only rules v if they are still there at age 13 (supporting xn»11)
(c) After: 13 — all agree that it is a 10’0
(i) Challenge: if 9-12 is the dispute>anytime during the 13% year is a jn’0; why present the consensus as at 13?
(if) Conclusion: must be a dispute about the 13t year
(iii) Rejection: all agree that during the time is still before the age
1. rather: both are discusing a young girl; Xw» follows 21 (maturity@12), 89’0 is X"2w1 (majority@13)
2. Or: both are discussing a pn; R follows X"aw7 (majority@12), X’ is 727 (majority@13)
3. Or: both are »17, Rw” is in re: young girl, R0 is in re: young boy
4. Or: both are 8"2v1; RWM is in re: young boy, 89’0 is in re: young girl
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~27's ruling: ot Pn is like before hand (considered a minor)
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N0 72 SN 7. taught this statement of X117 as follows:
Mvp. during entire 12 year may be mirnn; after that, she may not be nirnn, but cannot yet perform nxon
1 Challenge: inherent contradiction; if she can’t be mxnn, she is a n9; why can’t she perform n¥»n?
(a) Proposal: perhaps X121 is in doubt as to her status during that time?
(b) Rejection: X271 ruled that a nvp who reaches the age needs no vn’o np>1a — Nptn that she has them
(i) Block: that is only a default case; here, if we checked and found no n’1m°, not yet fit for nx9n
(ii) Challenge: if so, she should still be able to do jxn
(iif) Answer: we are concerned that she had om0 and they fell out
1. Note: this is only a valid response according to 17n that we have such suspicions (22 ")
2. But: according to 7"n that we aren’t n1w15> wwin (a9 “1), how can it be answered?
a. Answer: that is only for n¥»>n (which is lenient) — but for xn, all agree to wwn
b.  Implication: according to 8", she may be n¥>n? (else, they don’t disagree) and pwwin is stated ono
(iv) Rather: this is a case where we didn’t check; re: n¥’on, we are wwin; the npn is only operative for jrn
Final ruling (8y77730 2177 *7): we are wwin that the 1o fell out; but only in a case where he was wTpn her during the year
and was Y11 afterwards — we have a (v’® nwR) pao which is n”nn; but if not — we aren’t wwn (and allow pxn)

V  »’nn’v’s dictum: if a child, during “the year” (and s/he understood), was w»7pn and then ate it - man are given
Source: vv. 3-4; if he is considered an adult for 0T MYn, he is considered a PwnY 71 for that
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Support (8n12273): we find that the nmin equated 513::70p for nY1aw N1, for A°R and n’ Y1
1 We might have thought: that they are equal for (n%’yn) 127p? — therefore, it states 921n N1 (v. 5)
2 Note: Rnm2a stated that jop is liable for Yn» 9a
3 Correction: read it as Y Y2 MR (but not man)
(a) Challenge: if wRY TnY RY9N is n”nn, he should get mon; if not — should be no Mor (his 911 is invalid)
(b) Answer: it is directed to those adults who are responsible for his behavior
(i) Challenge: is Xn»12 taking (contested) position that jop who eats m%»21 — 1”1 is obligated to keep him away?
(if) Answer: case is where j0p was w*1pn but others were eating
1. Note: this is only valid according to position that if he is w*1pn and others eat — they are np (5”1 ")
2. But: according to 7"n that others aren’t np» — (R3n2 "1) how can it be answered?
a. Answer: the man are 117170; the verse (alluded to in 91m% jop MWN) is an RNINOR

VI Revisiting dispute 5" »"1/R113 "1 regarding a wR5 700 RY2m who was wTpn and others ate
Point of dispute: whether wRY 7o Y911 is RnNYNRT (971 2"1) or 12177 (2™)
Challenge (7207 7): if a (minor) nmin’ took a 973, her husband may (alone) be 1an
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If: we agree that wRY 0o RY9n is v, then the husband’s 132771 relationship is strong enough to repudiate her 1m
But if: wxY Tino RYMN is n"nn, then how can he be 1an?
S8 her husband is 9an “qwa) npn” —if ..RY9N is v — his N19n is valid; if n"nn, she’s still mvp, and 71 isn’t obligated to
keep her from violating the law (yw»19n% pnxn 772 pr M1 Y2IRN JOP)
1 Challenge: when she grows up, she’ll still be violating 7T, based on original (faulty) nqan
2 x27 husband keeps repudiating 111 (as long as they’ve had nx>a after she came of age)
(a) Challenge:husband can’t repudiate earlier 1T (that pre-dated pryw»)
(b) Answer (¥37): when she is N1, she does it with her husband in mind (when she was mvp, they were married)
Challenge (28): %8 MmN — dispute »01 "1/0'n5n whether nmn designated by a jop at o171 N is valid ("ov "1 — valid)
1 Assumption: »ov "1 holds that nmn in our day is n”nn; he must hold that WX no R5an is n”nn
(a) Rejection: »ov "7 holds that nrn jnra nmn is 0™
(b) Challenge: in £y 270 (per 13Ny "1 — authored by »ov "), v. 6 teaches that there won’t be a 3 nvry
(i) Answer: he taught it, but he holds that r”nra nnn is v"mn
(if) Support: k1 - if dough was mixed in or risen with nmAn-leaven, it is fully p5n
1. Therefore: 20 in n%n, not Y01 by contact with a 12V — per AT’ "N ™; W1 '01 7 exempt from NN
a. Assumption: whatever one holds about nmn, would hold same for n5n
(iii) Therefore: if "o "1 holds nYn is 131297 today; the mix can come and exempt from nYn; but if N5n is n"nn, how
does mix (which is v"1) exempt dough from n%n
1. Block: perhaps »ov 1 holds that nYn today is 12277, but Ny is n”nn
2. Per: "7 72 RN 1's answer to 17727 1127 — (their argument — n5n must be n”nn, since during first 14 years,
we were only 2n in 19n, but not Nn1IN) — even if NN is n”nn, NYN is 13277; requires DaR11 — all must
come - and during 1% n1>w a minority returned
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